1.

BIESS

(1) TETE
(2) wgETR

(3) W&

(4) T8 (Fam)

(5) mq—ﬁ%ﬂ?—.ﬂgﬁ

O &feron % farg foret & oo 2 2

mwmﬁwaﬁ@?
(1) 1968

(2) 1965
(3) 1966
(4) 1967

(5) 3o & =red

BfITon % ger AT FH B 2
(1) e JHTg

(2) i Fm

(3) Adl feRu AT

(4) aw o

(5) I A€ &1 =Ed

70°28' ] 77°36’
(3) 74°27'8" ] 77°36'5"
77°28' & 84°38’
e T & =TEd

ruaamf%:ﬁﬂw'“/SPA
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1.

Nahar Wildlife Sanctuary is situated in which
district of Haryana ?

(1) Mahendragarh ’

(2) Faridabad %!N.JRES T
(3) Rewari

(4) Nuh (Mewat)

(5) Not attempted

When was the Haryana

Commission established ?
(1) 1968

(2) 1965

(3) 1966

(4) 1967

(5) Not attempted

Public Service

Who is the first Lokayukta of Haryana ?
(1) Babu Parmanand

(2) Ranjeet Kumar.

(3) Nawal Kishore Agarwal

(4) Pritam Pal

(5) Not attempted

Panjokhra Sahib Gurudwara (Ambala) 18
dedicated to the memory of .

(1) Guru Sri Harkishan Sahib ji

(2) Guru Hargobind

(3) Guru Tegh Bahadur
(4) Guru Gobind Singh
(5) Not attempted

The East longitude extent of Haryana is:

(1) 71°28 to 77°36
70°28' to 77°36’

(2)
to 7703615//

3) T14°27%
@) 71728 to 84°38
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6.

=1

10.

ghamn anfifes gdam (2021
F fFaX v Hwmm R 2

22) & quR ghamn §

() 74
(2 23
) 82
4) 92
(5) I T I 9"

A § Tolid ed Va1 Fwl N o g v
22

(1 20,552

2) 16,552

3) 17,552

4)

(8)

fog 99 2022 - 23 % B TS T9e § R F &
% = % fon F woe H e wiawa fuifa foan
™R ?

(1) 98%
2 62%
@) 5%
4) 43%
(5) I @ o =

idE TEAT (2020 - 21) & @R ghEmn @ vl

=T 91is AT a1 2 2
(1) ¥ 2,35,707

(2) ¥ 1,85,630

(3') Z 1,90,950

(4) 7 2,90,630

(5) A & Z1 ArEd

T 4 “Gd aml, 94 dee” &1 qun fresk
21 T ma 2

(1) 4 719 %1z .
o & ./'
@) ) woiResuLTe
(3) it gaTE A @@
(4) ot wem fae gred
(5) Il <A1 =TEd

ARAM/C3/Page 3

6.

10.

% &1 & T T9T™ 1 SPACE FOR ROUGH WORK

i in
How many Sub-Treasuries are there "
Haryana according to the Haryana Econom

Survey (2021 — 22) ?

(1) 174 .

@ 23 6/‘9 INDIRESULTE
(3) 82

(4) 92

(5) Not attempted

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,552
(2) 16,552
(3) 17,552
(4) 18,552
(5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

1 98%
(2) 62%
3) 57%
4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 — 21) ?

(1) ¥ 2,35,707
(2) ¥ 1,85,630
(3) ¥ 1,90,950
(4) ¥ 290,630
(5) Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1) Shri Ram Nath Kovind

(2)  Shri Narendra Modi
(3)  Shri Manohar Lal Khattar
(4)  Shri Kaptan Singh Solanki

(6) Not attempted
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I e e Ao’ yE o 11.
(D 199a8, 2006
(2) 1S9’ 2005

launched on :

(1) 15t January, 2006

(3) 1w, 2006 (2) 15t January, 2005 /.‘
@ 19, 2005 ‘ (3) 1% March, 2006 @!NP.'BESSH!-,T.E

(6) I A 1 T1E (4) 1t March, 2005

- . 5) Not attempted
12, Mﬁgﬁaﬁqmﬁng%ﬁw ¥ frw 1923 (5) Not attem

T SIe-Ug & Wy firee fRe TiaR o 9|12 Who founded the Zamindar League’ along wi
TATET Hi 2 Fazl-i-Hussain in 1923 to spread the reach of tp,

Unionist Party in Haryana ?

(1) 37gd TFHR @H
(1) Abdul Ghaffar Khan

(2) g gaH
(3) ufeq IErm wwi (2) Rao Tularam
(3) Pandit Nekiram Sharma
(4) WBRMW
5) S JA— (4) . Sir Chhotu Ram
B (5) Not attempted
13. yfug s ueiew 3 T 37 ; ,
SRR sl 3% s FHRT | 13. The famous writer Dharnidhar in his book
¢ |— gafea o 7| Akhand Prakash addressed the State of Haryana
(1) 3w ' with the word
(2) T IS (1) Aryana
(8) BRaT+ (2)  Kuru Jangal
(4) gRa | (3) Haritanak
(6) Not attempted
14. =REOT § Eh G aRig 9 w9 F e | .
, 14. On which occasion is ‘Khoriya’, the famous d&*
@ e W foha ST @ ? :
ST . % form of Haryana most commonly performed ’
D e ‘ (1) In the month of Saawan
(2) Bl H W (2) During Holi
; g Holi
(3) THF IHW (3) On child birth
(fl) ferar % I (4) On the occasion of marriage
(5) IR TE &M & (5) Not attempted
" glin
15. R @1 HE-ar e guE (v T AT ) | o Which district is famous for ‘Surahi’ (2
F o ufag 2 7 necked pitcher) in Haryana ?
(1) e . (1) Fatehabad
@ T @!NP.'B§§Q!:TE (2)  Gurugram
3) Rewari
(» W@ () e
(4) Jhajjar
(4) =SS 1
(5) FE S & =TEd (5) Not attempte
ARAM/C3/Page 4 I wrd % feru ver | SPACE FOR ROUGH WORK
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‘f;?]]‘loat% I%ITSSI?ﬁ“T 83 - M fiew, wfemon & ﬁﬁ%ﬂ 16.  Morni Hills, a tourist attraction point, is situated

A fem e e in which district of Haryana ?

(L =@l el (1)  Charkhi Dadri .

(2) q’a‘gsen (2) P‘anchkula @ |ND| RESULTE
3 e (3) Jind

(4) ST (4)  Ambala

u;) IR TE AT 9w (5)  Not attempted

g . 17. Where is the Rajiv Gandhi Renewable Energy
1. WWWWWW‘}W@H%? ere is the Rajiv

- Park situated in Haryana ?
) AHiug
{ . (1)  Sonipat
2)  yigg
&2' (2) Panipat
(3) TW

_ ' (3) Gurugram
@) wigEe ,

(4) Faridabad
(8)  IW & 1 =gd (5) Not attempted

18. EREmT ¥ aeh 6y TRIsal w1 Ty S Oy ?: 18. The highest elevated area of the Aravalli hills in

(D oW A vafeat (o few) ‘ Haryana is ’
(2) ot i varfeat (deh few) ; (1) Mewat Hills
(8) F& I (Fi ) (2) Dhosi Hills

@) o & it (R fiem) 3 K-aroh P.eak
(5) v A (4) Tipra Hills

(5) Not attempted
19. zfam ﬁ@m@mmmw%m

AATE 2 19. What percentage of the total land in Haryana
(1) 81% ‘ _comes under agriculture ?
(2)  70% (1) 81%
(3) 76% ' (2)  70%
4) 7% (3) 76%
(5) I T 21 A= 4) 7%

(5)  Not attempted
20. mnm%qzémqa@(mqﬁ)ﬁFW

L 20. The first Grain ATM (Annapurti) of Haryana
fora ﬁa H Tjé ? State has been set up in which district ?
(1) F=gen (1)  Panchkula
2)  Hrfig (2)  Sonipat
(3) T&m™ (3)  Gurugram
(4) IR - (4) Yamunanagar
(5) 3O & & =y % INDIRESULTH (6)  Not attempted
ARAM/C3/Page 5
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- Follow flilg'fﬂog %Eﬁ%giglg ‘Ella{l?cig {1\1]55 SQF am & +fy[21.  Which dance form of Haryana is g]g, kny
21. J m A b A

g,
‘Haryanavi Gidda’ ? '
ST SR R 2 (1) Ratwai ’
(1) e o) Bwang .
2) @ | Egi Gugga 6:’0 INDIRESULTE
(3)  Tm (4) Jhumar
SRR ' (5) Not attempted
() IW A T =R : .
i 22. Who among the following is known 4 .
22. WA QAW fenon g % W Q ST S # 2 ‘Haryana Hurricane’ ? "
D wRe (1) Kapil Dev
(2) m{{ et : (2) Mansoor Ali
(3) fouig fag 7 (3)  Vijender Singh
(4) g $m (4)  Sushil Kumar
(5) IR TE 0 =Ty , (5)  Not attempted
23. AT ¥ oW Tt fade i 1 ey R T U |93, Nirmal Gulia from Haryana is associateq with
27 which sport ?
(1) deat| (1) Handball
(2) g A‘ (2)  Hockey
(3) TfeT/Hme (3)  Gymnastics .
4 <= ‘ (4)  Judo
(5)  Io 4 T =y (5) Not attempted
24. Trefafen § § BT % Ry =fy W GRS #5724, Who among the following personalities fior
F &3 § 2022 F ‘g o o 931? e T o Haryana received the Padma Shri in 2022inthe
(1) Tz T | field of Social Work ?
(2) Tt T wem (1) Rag%luvendra Tanwar
(3) et e (2) Moti Ijal Madan
- " (3)  Neeraj Chopra
Vel i W?T sl (4) Om Prakash Gandhi
(5) 3T oA =med (5) . Not, attempteqd
25. A AR QR e s 26.
2|

i

Gugga Naumi fe
Haryana in

(1) IeH % 90 o ° D

© wfmwpms (BYINDIRESULTE ()

(3) 9141 % <29 4 @)

(&) o % <z 3 (4) " the lungy month of Shravan

5) T A1 ArEd

(5)  Not attempteq
ARAM/C3/Page 6 T @14 o feTu e | SPACE FOR ROUGH woRrgk

stival ig celebrated all oV

the lunar month of Phalgun
the lunay month of Kartik
the lunay month of Bhadon
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'F.’OI (O\mtgfg tho™ {ollew m{,grﬁm of ,(11@4[{@5 (1(:1;'{]1310 following passage carefully and  answer
labelled as PQRS  to make a  meaningtul | questions 29, 30 and 31.
belled @/;INDIHESULTE
sentence. YOUR SUCCESS PARTMNE
B RO { Street theatre in India T a well. -established
or OTK 18 ¢ MESING an :
P power to work is a bl l_m.“ ( ancient art form. Despite the proliferation of
Q. let us realize that the privilege modern  means  of  entertainment  and
R.  the love of work is success communication, street theatre continues to
S.  towork is a gift, the flourish in India.
(1) QRPS Street theatre as a channel of communication has
2 SRPQ for centuries been propagating reforms by
N highlighting social, economic and political issues
9 S present in the society. Unlike in the olden days,
(4) PSRQ its performance is no longer restricted to villages
(3)  Not attempted or small localities of the city. They create or raise
awareness over a particular issue of public
27. Choose the correct passive voice form of the importance.
following sentence.
29, i
Bring 2 cup of coffee. ) In olden days, street theatre villages
. or small localities of the city.
1) H t i
( e requests you to bring a cup of coffee. (1) entertained
(2)  You are requested to bring a cup of coffee. (2) was restricted to
(3)  Let a cup of coffee was brought. (3) was not restricted to
(4)  Let a cup of coffee be brought. (4) was opened to
28. Pick out the part of the following sentence which |30- Modern  means of entertainment and
has an error. If there is no error, your answer is communication street theatre.
(4). (1) helps establish
One of the state in which (2)  does affect
A (3) does not affect
Satyagraha was offered was Rajkot (4)  helps popularise
B (5) Not attempted
where he spent his youth. ‘ ith issues of
y Issues U
C 31. Street theatre usually s
. public importance.
(1) B . al
¢ G{//' IN IHES ' (1) doeS not dea
2 ¢ e (2) s distanced
3 A (3) s pcrformcd
(4) No error (4)  deals E
' attempted .
(5)  Not attempted _(M.“_UE»-BJ’”
B ORK
ARAM/C3/Page 7 T T4 o feru €T | SPACE FOR ROUGH W
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Follow us

C hoose
underhned part of the following sentence. 1If py
improvement is required, your answer is (4),

Don't judge each day by the harvest you reap byt

by the seeds that are planting,

(1) that you plant //'

(2)  that will be plant @INDIR ES ULTE
(3)  when you plant -

(4)  No improvement

(8)  Not attempted

n Telegram - "IndiRes ]{.in "

the correct Rlternative to 1mprove  the ’36.

37.

Pick out the correctly spelt word.

(1) nuisence

(2) privelege

(.'!) familiar

(4) usualy

(5) Not attempted

Pick out the antonym of the underlineq W

0
the following sentence. n

33.  Fill in the blank with the suitable Preposition Alittle learning is a dangerous thing,
The boy red hair ig my brother (1)  smooth
(1) from (2) innocuous
(2) of (3) devilish
(3)  for (4) plain
(&) with (5) Not attempted
(8) Not attempted
. 38. Pi
34. In the following sentence, a word is ung, : 8. Pick out the Synonym of the underlined yy;
Beneath the sentence four different erlined. the following sentence :
) ) erent ways of )
phrasing the underlined worg are indicated uestilld _‘longed for the mother's love.
Choose the best alternative among the four. (1) refused
‘Despite losing a lot of money in the stock market @) ctaved
crash, Suresh remained unphased.” ' (3) shouted
(1)  unfizzled ' (4) fell
(2) unfazed (5) Not attempted
(3) unfaced
(4)  unphazed 39. Pick out the correctly spelt word.
(5)  Not attempted (1)  intitutionalize
35. Find out the correct indirect speech of the (2:) intutionalize
following sentence. (8) institutionalize
She said to her father, “Will you give me (4 instutionalice
sweets” ? (5)  Not attempted
(1) She has asked her father if Heewodigl digele
her sweets. 40. Pick out the correctly spelt word.
(2)  She requested her father to give her sweets. (1) suggession
(3) She requested her father if she would give ) sti
(2)  sugestion
her sweets. 8) suggesti ./-
stion ,
- ather i ive he %) INDIRESULTE
(4)  She asked her father if he would give her (4)  suggesstion Qa IRESULTH
sweets.
B
(5) Not attempted (6)  Not attempted —
ARAM/C3/Page 8 1% T % fere TaT | SPACE FOR ROUGH WORK
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41, ‘we’ ¥ fou galue sugw walgard weg w1 wwr |46 frafafiaa fomedt 4 4 yorr 3 L EI I ———

afv | TgEH HifS |
(1) Y (1) 31 = tfigeht, firm, gferdaren .
@ W @) s, s, (Z)INDIRESULTE
@ Fw 3) 3 ==, =, dEh
(4) wrdvg @ o
(5) S & 3 wigd : = SRRl S, T
(5) 3o T & =
42, fi=fafes 3w § 9 o/@a Im 1 997 hifdg | _
i " 46. Wuafa ¥ am s om
(1) SR H AR 3T T — 3’ fore S
| _ | R 1wt 3es faeim g g |
2) 3= F 9w § w0 9w — st 1) W
(3) IFH T=O1 ¥ FW HW AN — oY (2) we.
sl (3) i
(4) 9o T 9 — I @
(5) I F <A1 IR _ (5)  We 3

s AT AR IR A, e & & w-a weg ohfem 72 20

e (1)
1) =R | e
(2) frig @ S
(3) Ao | - ® g
(4) darEdAfEE : 4) e
(5) 39 T & == (5) IR & o =Ed
U yEF mE ey 48. ‘Goed W WA w2
(1) g af | n ™
(@ Wk | (2) 2‘;
. 3)
(3) wifeh % srgm @lNDlRESULTE .
(4 srﬁﬁ ﬁ YV J vour success paRTHER (4) N
o (5) e e e
(5) I &l AT =mEd
ARAM/C3/Page 9 T @ i fer T | SPACE FOR ROUGH WORK
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49. R 3 TH TS | s gifer 7@ 22 (F)INDIRESULTE
mmm%mmw%?
(1) v — g W Fea e,
(1) e FHHHE JIUR] ST safiretl, < Hfy,
‘ HATHIE WHRY T .
@ ™ (2) "l — den W A ogm o
(3) IYMH St HTHRT T , o frinh e P
AT HHHTEH FHR AR
“@) (3) w9 — “Ha ahem = gFER gu o
(5) I T [ e Toel- UG 3T |
o e & i fosreht #1 g,
50. SIESNI, WCWIMI AR FAWAHT wsql § foRen % - S T I
SR % g T SN R T R 2 4) I — A e atE = g )
(1) S U1 . , (5) IR TEl & e
2) ¥IH g
8) SIS g 54. PR st e F anh o B 1 A # et
@) Tl ug weg 1 IuEt Ty HIR |
(5) TR T T 9T (1) <gwa, doad AR faesfi sy
(2) dgHa 9=
51. ‘o= YA B w9 5 e g wa ) (3)- deaw I
— IR FRE ST A @ | (4) freft 3wt
1) wEm | I W Sad wam _ (5) T TE T S
(2) wEm = =g 9 FE .
3) Rem=iEaa =S A
i i ﬁ@a%_?:;m 55. fam-fag 6 gfd @ g 9= =1 == Hifw |
_ ; ' 1) T i @, Afgwr 2, Aowd @ TEe
(5) S & &A1 =rEd Y
2 = ffF, S w ofgs 2, seed T gES
52. ﬁa%rf@aﬁwﬁﬁﬁm%mqwaﬁqﬁﬁg | ' R
(1) = . @) ¥ e S o AR 2, s T gEE 9
@ = #oiresuLTz W
(3) @AM (4) "0 fim s o, Afew 2, sioea wE TN
(4) #A@ fora w2
(5) I FE ZA ArEd (5) I AE A =nwA
ARAM/C3/Page 10 % w1d % fere #aT | SPACE FOR ROUGH WORK
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56. o9 Sudl & Wi @4 sy 13U MU} | @EId: 914 |56, Three .statements are followed by three
. e & P 03 € 0 S T RU 48 kg conclusions. Take the statements to be true even
5 @i \'&q q H-91/A Ased fQu o gpe) if they seem to be at variance from the commonly
;‘ e 3 known facts. Decide which of the given
' = conclusions logically follow(s) from the given
FU7: T AF pRiAT | LA statements. @lNDIRESQHE
. > S . Now T e A e s
Fo il wem § | Statements :  Some tables are chairs.
. " |
ERIRSHUE LI Some chairs are beds.
FeY: (D FoFRAND | ¢ All beds are rooms.
) T8~ -
an $® Eﬁ‘ﬁ WZ ' Conclusions : D Some rooms are tables.
(ITD RISHECD qat 8 '
39 (II)  Some rooms are chairs.
D %39 I Feverar @ |
( q (III)  Some beds are chairs.
(2)  %aa IR I ey g | (1) Only II follows,
(3) o I3 11 frem & | (2)  Only I and TIT follow.
(4) 9 II i 111 Rrerery g1 (3)  Only I and II follow.
(3) I T 3T ey (4)  OnlyII ang 11T follow.
(5) Not attempted
57. ﬁmﬁff@aﬁ%ﬁq—mﬁﬁ% ?
1 : ST
(1) 9,18,927 57. Find the odd one out,
(?) 6,9, 18 (1) 9,18, 27
@) 7, 14,21 (2) 6,9 18
(4) 8, 16, 24 3 7, 14, 21
(5) IW 4 = IEnt (4) 8,16, 24
(5)  Not attempted
58. i 5 |
A ﬁﬁﬂsmvmngﬁm,‘%ﬁm
HEE o 2 s ag
| % gfy EIR:I - | TS 1| 58.  Pointin t :
SRR S " i 3 . 12 out to g lady, Raja said, “She i8 the
@ daughter of the woman who is the mother of the
/.‘ husband of my mother”. Who is the lady to Raja ?
@ 3 ) NoiResuLTg (M) Sister
(3) REl (2) * Aunt
(4) g (3)  Daughter
; (5) I S (4) Sister-in-law
ARAM/CS/P (6)  Not attempted -
age 11
o Dol ¥ P % oI T | SPACE FOR ROUGH WORK
o b0 Follow us on Telegram - "IndiResult.in
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59. Frafafes wofi W araw of 39& wem g Ry MU & ¢ |59, Letters and their number codes are given
] following table ; * 0 the
78R E X |P|M R|S T -
I ' 1 Letter '
wenge 1| 2| 4| 7|9 |36 - |E|X|P
- ' Number Code | 1 | 2 | 4
e W g@ ama @ B feafafea 4 8 S You b tf;}"'"
P , ave to find out which of the alternat;
IHeT EMRS H1 Uel Heag § R has the correct coded form of ‘EMRS’. e
(1 1937 (1) 1937 '
() 1793 (2) 1793 .
(3) 1973 3) 1 N
973 6/',
oo ® 98 (@NDIRESULTE
(5) I TE A A (5) Not attempted
60. TS a‘g e P ‘Q TAM Teh 5 AT € b 60. A bus driver knows five different routes from a
TR Y TEAT R | 98 ‘Q W ‘R’ T 3 TA-I Fe aA place ‘P’ to ‘Q’. From ‘Q to ‘R’ he knows three
R Y S T 2 I-TAAT T F qOR T JEAT 2| 98 different routes and from ‘R’ to ‘S’ he knows two
Py S dF fHdd TS H IR § SeaT § ? different routes. How many routes does he know
_ from ‘P’ to ‘S’ ?
(1) 16
a 16
@ 10 @ 10 -
(3) 20 (3) 20
(4 30 (4) 30
(5) 3T AEI & =mEd (5) Not attempted
61. = fau e W 3 =it 1S T i 61. Find out the word which can be formed by using
=TS S5z ST [ Hitd | the letters of the given word.
CONSOLIDATE
CONSOLIDATE (1) DETAIL
(1) DETAIL (2) NASAL
(2) NASAL (38) - LOCAL
(3) LOCAL (4) LENTIL
(4) LENTIL ) (5) Not attempted
R X :
(5) TN Rl ; : 13114715 in a certaint code
GO Fi 13114715 F & il g2. IfMANGOiscodedas ol i " ded in that
g, s FE 2 WA M;}j‘ o & FIGHT 1 language, then how Wi
52, T2 2 T
e 2, @ £ same code language :
F2I5 fpt St AT ? (1) 697620
ST H P . 696819
. . (2)
(1) 697620 ;
Y epes1d (%) INDIRESU 3 697819
) s 7 .. YOUR SUCCESS PARTNER . O
(3, 697819 (4) 697820
. (5) Notattempted
(4) Y2 Lo . - g
) ) - H WORK
(5) I aff 2 AE < w1 F fere, Tt | SPACE FOR ROUG“ 930
_;\F;/;\/!:/;/(V';'ﬂ/f"iﬁq" 12 f j ﬁo o ] .
Follow us on Te]egrgm - 'IndiResult.in”
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Follow uns)r on
63, U@ wE b

r%:?!fﬁﬁrﬁa]%l E{HRIQ:%I R
pafeud Ry TR A U WefE g S U
NTEROM
1 2345 6
(1 6,5,4,3,2,1
@ 2,5,6,3,1,4
3) 6,3,.21,4,5
4 6,3.1.2,5,4 negnvTor

IR TE G TR

fyefoies § @ #-ar v fim R 2
ZERO
CARE
PALE
STAR

(5) IR TEH & =R

T8 el foshed 1 T Hie fred e g W o
¥ 3 R ¥ wEhE @ N R g ug ved e
T |

g . 9m  ; foaeh (2
e

e B o=

(5)

64.

(1)
2
(3) wnra
4) 3@t
(5) I T & =g
T wd foer F1 T Hif e gw F 9w A
mmwﬁﬁ@wﬁaz‘r

A;By:CyD,

66.

1) GysHyg: L dyg

W5 Xg:Y;Zg

P16 Q17: RygSig
Mi; Nip: Oy Py
(5) 3o 741 21 =mEd

(2)
(,’%)
(4)

------------------

64.

65.

66.

?é']u] é{(l& the combination of numbers so that the

letters arranged accordingly will form 4

meaningful word :
N T R O M e

E .
L 929 34 5 6@INDIRESULTE

(1)
(2)
3)
(4)
(5)

6,5,4,3,2,1
2,5,6,3,1,4
6,3,2,1,4,5
6,3,1,2,54
Not attempted

Find the odd one out.
(1) ZERO
(2) CARE
(3) PALE
(4) STAR
(56) Not attempted

Choose the correct alternative which is related to
the third term in the same way as the second
term is related to the first term :

Sheep : Lamb : : Butterfly : ?

Nymph
Tadpole

oY)
(2)
3)
(4)
(5)

Larva
Caterpillar
Not attempted

Choose the correct option in which two terms of
the pair are related in the same way as in the
pair given below :

GisHig: Ii7dig

W5 Xg: Y7 Zg

P16 Qu7: Rig Sio
Mj; Nyg: 013 Py
Not attempted

(1)

(2)
(3)

(5)

ARAMIC3/Page 13
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| BT 9 Ry g f i
¥ S g I fzn ) Nt Hr e A3 8Y [67. Five persons are sitting in a row facing N,
- :édl R Gﬁ;:’l + UHH E{Pﬁ R A ] | HESA TS & Sunita is sitting to the immediate rightnh
SN %W SR 3 B 9T AT ® a9 qq Pankaj. Kamal is sitting next to Raja w iu
b qrer 98l A R ) gfar & @y e A3 F 0 sitting on the extreme left and Tara is not st |
kl? N 31 a9 next to Kamal. Who are sitting adjacentkf‘
‘ (2)  $9d 3R aa Sunita ? |
: i 1 j dT ’ .
| G (0 RajaandTera " G npipesyTg
(4)  Yes 3R an (2) Kamal and Tara Fene
(5) I &N 27 =Ry (3) Pankaj and Kamal
| (4) Pankaj and Tara
68. §¥ Iy ﬁ»‘@ﬁ UfagTiEes TS HT 4 w8, ar oy (5) Not attempted
T A 8 '
(1) | TS TF 3 ?!-\g} T W EEH §HT Sl 68. When you visit any historical place, you try to:
- ST | (1) just pass time moving from one place
(2) 79 il & 91 ofFe o | sacther
3) R ¥ Tk 3?9131 R - (2) just enjoy with your friends.
] ' L (3) eéxplore the cultural or social aspect of i
I ' design
(‘%) ST S wh A S F e F av < (4) take pictures and enjoy a break from
Sall ‘monotonous life.
(5) IAL AT T ATEd / (5) Not attempted
69. Fmfifaa @ sj@en # w9 g () ¥ TIH W|g9. What will come in place df the question mark
H-H g AT ? in the following number series ?
99, 80, 63, _? _, 35, 24, 15, 8,5330 99, 80,63, _?_,35,24,15,8,3,0
IR ol « “1 3 d
(1) 42 (1) 42
(2) 38 ° _ @ 38
f (3) 58 L (3) 58
4) 48 @ 48
(5) I F&1 2T =mEd , (5) Not attempted
70, faetat@d Frzarene spEen # gE FE () % ¥IM T | 7o What will come in place of the question mark
- e JE STl ? ' in the following numerical series ?
14, 19, 35,59, _2_, 179, 299 14, 19,35,59, _? , 179, 299
(1) 129 (1) 129
(2, 131 /', (2) 131
(3) 130 C:/’ INDIRESULITE B0 188
(4) 132 4) 132
(5) 3 A1 7 =rEd (6) Not attempted
i :
_ ; SPACE FOR
S RAMICHPage 14 T w1d & fe1e 9T / SPACE ROUGH WORK
TR
+
2N ” o . 4
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FEOIH]WOW g‘iﬁoﬁn ﬂgi-'g]lﬁé‘:r%rf H19-4/A %94 |71, Which of the following statements is/are correct

7. 37 about Apical Meristem ?
wht ¥ . o
- Y : (a) It is present at the growing tips of stems
(a) & @ TN 513 * Nl 3 Rt oen & ik and roots and increases the length of the
T I H TR H G R | stem and the root.
(b) THH! TG W T AT S T U G § (b) Due to this the girth of the stem or root
© J&HS Nl A i3 (L) F yrd yr A @ | " increases. N J
y Hiftra (¢) It is seen in some plants and located near
A e e 8 e e 1 ' the node.
(1\) = (0 Choose the correct option from the codes given
(2)  (a) T (b) below :
3 (b)d (e) (1) Only (c) .
4) &9 (a) (2)  (a) and (b) C:'//a INDIRESULTE
(5) W @ (3) (b)and (c)

(4) Only (a)
(6) Not attempted

~1
[

H1k g 3 e # 9 Hiex Tl } ofk v 5 e &
23 Wit 1 gt 7wt § | 38 F¥G A o o wn

2 72.  An object travels 9 metres in 3 seconds and then
w st e et
@) 3 ufy ds , 1) 6mis
3 4vie of e (2 3mss | .
@) sHuftdHe : (3) 4ms
6 WA 4 5miks

: (5) Not attempted
73. T ASE Raw, 2022 6 g w0

1) “Rei ot @30 WW&N%%‘Q \G 73. What is the theme of the ‘World Ozone Day’,
o

20227
: (1)’ “Delhi Protocol @ 30 : Prot £ Lif
. ) elhi Protoco ¢ FProtection of Life
(?) Rall sl @ 36 - CIEIC e & fo through Global Cooperation”
)
e Creiug | (2) “Rio Protocol @ 36 : Global Cooperation for
(3) “aritfeufdy % e % firu ﬂﬁaa e Protection of 0zone”
4) U S @35 : 9ot 0 e e & (3) “Montreal Protocol for Protection of
o 3 i Ecology”
(5) v 7 ; (4) “Montreal Protocol @ 35 - Global
) IR TR S A Cooperation Protecting Life on Earth”
4. ™mAHAF ™ (HTTPS) 1 il e 2 (5)  Not attempted
‘-?3’ A AHE /e ey I R SET |74, HTTPS is an acronym for | which should
U be used while entering sensitive information.
(1) = : N S . er Protocol Sequence
) FEY 777?, S JIeThia diadmg @ INDIRESULTR (1)  Hyper Text ’I‘ranst-er .o ocol ; q ‘
2) 7P e ST ot TR (2)  Hyper Text Transfer Protoco Lec;uSe
‘ < ) smission Protocol Secure
@) =z N . (3) Hyper Text Transmission
) B g ZWﬁT-‘m ATHTA G (4) Hyper Text Transmission  Protocol
) R S giafayy et dageq Sequence
A (5) ST T 'fFﬂ HTEd (6) Not attempted -
RAM/C3/PaQe 15 ' t_m?tﬁimﬁ?v 1911 | SPACE FOR ROUGH WORK
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75. 1960 H Y@ 3R WERIY AW QAU UAL b

G A & oy fFafafea § @ v usa &) Qv
A e Ty o ?

(1) g

(2) s

(3)  SNRHNTG

k-i) OB

(5) IR FE A =

76. Timfefas e & @, wfgeett S wage =1 sfer
STST ST S B &7 2 '

(1) T34
(2) =

(3) e
(4) BfFem

(5) IO A& A =

e STRiEE IguE (d.eTR.TR.) Wi feus e @
Ein -

(1) awa =1 fa s .
(2) T % e iR wERE wiEs
(3) wRdE o 9

(4)  sidgE

(5) e A&l & =

=~
~1
.

- Wﬁﬁﬁg%ﬂﬁ‘mmﬁm”%
mmmzomﬁﬁmxmmﬁm%?

(1) g

rg_) qud

@ @) WoiResuLTe
(4) m

5y 3 AF ZA ATEd

Follow us on Telegram - "IndiResult. {n "

5.

76.

77.

78.

Y

Which among the following States in 19g .
bifurcated to create two new States of Glljarx

ary
and Maharashtra ?

(1) Nagpur .
) /'
@ Bombay  (FYINDIRESULTE

(3) Ahmedabad
(4) Daman
(56) Not attempted

Among the following countries, which was {|

last country to give voting rights to women ?

(1) Saudi Arabia

(2) China
(3) Pakistan
(4) Mexico

(5) Not attempted

With whom is the Cash Reserve Ratio (CE
kept ?

(1) Finance Commission of India

(2) Comptroller and Auditor General of Indiz
(3) Reserve Bank of India |

(4) International Monetary Fund

(6) Not attempted

Which among the following countries ranked ©

highest on the “Ease of Doing Business” Index’
2021 ?

(1) Portugal

(2) India

(8) China

(4) New Zealand

(6) Not attempted

e
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V—V ” . 'jn ”
Follow us on Te]e;%ﬂq];?% é-lggl‘f—;}es';g]t What is the name of the sorting method that
- Hﬁ]‘ qT FIffr g aﬁa

i i list of elements and

7. % . refers to sorting a given :

AT o e EF: S swapping them if they are unordered ?

J7eh! aTgaT-sgeh | wefifa & 7

dg (%) (1)  Deque

v ﬁ!ﬁiﬁ(ﬁ qre | (2) Selection Sort

2)

. YN 91 (3) Insertion Sort

(3 7 .

T (4) Bubble Sort .

iy @) moiResULTS

5) I AE A WEd (6) Not attempted WY/ veussuce

(o :

» ' 80. Which of the following network device extracts
fFrfefes # § a1 Seash Irwwr 3o 9% @ R the destination address from the data packet and
qaT (e3¥) Frenraan R 3R @ w arferer H q@ar g B looks it up in a table to see where to send the
U%e F HEl A WU 2 %a Fraifa sy )

packet and sends signals only to selected

o
e

fe Yt 29 devices ?

(1) Ted (1) Gateway
(2) &\ ' (2) Hub

gé) o= (3) Switch
(4) ®X (4) Router
(5) IR TE 1 ==y

(5) Not attempted

81. Which of the following options lists all devices
81. ﬁtﬂ‘m@a %mﬁmﬁﬁqum

used for output from a computer ?
= AT ( %) % FH am &2 (1)  Flat panel display, Plotter, Barcode scanner
Q) e @ e, wite, s HR . . :
@ @ S frex, et (2) tf:tiz ) printer, Optical character reader,
® e e, § ﬁa’ ' (3) Laser printer Inkjet printer Scanner
W3 A e wte, e R, i | ’ ’
5) T T 3 S (4) LED display monitor, Inkjet printer, Plotter

(5)  Not attempted

82. Freafafe 7 @ F A Tty nfafafy 3| 82. Which of the following lakes is the result of
Ty Iy Eg ? tectonic activity ?
1)  +rrE gy . (1)  Kolleru Lake
(2) W?ﬁ'@ @INP,Iﬁgssg!'IE (2) Sambhar Lake
(3) Tafers i (8) Chilika Lake
4)  ger iy (4)  Wular Lake
ARAM/C3/Page 17 -_ - e
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]R3, fyigfaieg A A/ v qudlr afavig i | 83, Which of the following word/s was/were addeq
Gdla 423 e g 1976 3 A1 9 2 the Preamble of the Indian Constitution ip 197 |
through the 4274 Amendment ? ‘
A AMEang
(n)  Socialist °
) U H9H .
5 (b)  Sovereign /..(/’lND"qESULTE
) AT (¢)  Democratic
d) gy (d) Secular
SR T A g8 ey o1 994 HifSe . ' Choose the correct option from the codes given
o below :
RAGLIRGE

(1) (a)and(d)

(2) Only (b)

(3) (a)and (c)

(4) (c) and (b)

(5) Not attempted

SHId (L)
a) ddl (¢)
4 ) T (b)

1]

84, Tim TEE ¥ wiwewsti @ wew fufEm, 2005 %

84. Which among the following statements is not

==+ 3, =fafea # @ S9-a1 @ 96 757 2 2 correct with regard to the Protection of Women
1 == st 99 W ) EﬁFL%FIT HT TF TR from Domestic Violence Act, 2005 ?
oEaT R | _ (1) Sexual abuse is considered a form of
. domestic violence under the Act.
2) =z fufm wfgenstt ft wifes aon arfoes et il
) . (2) e Act protects women from both sic
S5 21 & GRET T § | P e
and verbal abuse.
3) ¥ T7H hefe gk FeHl T TEw I @ (3) The Act does not extend to ‘live-in’
771 foa-37 HEYl & HIET G0 T8 o | relationships and only covers marital
4) 7z wfafEm s Mo H W e w1 houssholds.

(4) Economic abuse is considered a form of
domestic violence under the Act.

TR AT B |

(5) I T2 241 =TEd _
(5) Not attempted

85. AT HEAM HISHA (va #.aq.)  H TR F 85. Where was the 20th meeting of

AT #1 23 , 2022 I o & Prosecutors-General of the Shanghai
2041 a2 w2 Avtaa 4 wE i ? Cooperation Organisation (SCO) Member States
3rd 2022 ?
TTATA] held on 23'd September, 20
. (1) Astana
2 A 20|
. (2) Tokyo
(3) AT
’ ° (3) Tashkent
(4) 14 (—7/“ _
A 71 INDIRESULTE (4) Kiev
(5) *{y‘-{‘ q'ﬁ 241 ";ﬂ-ﬁa /&vnun SUCCESS PARTHER

(6) Not attyglrlgypd -
; FRAMIC3/Page 18 @ & feru 1T | SPACE FOR ROUGH WORK
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ﬁqﬁ?m%wﬁ@ﬂam@:ﬁﬁ%w%m

N 50%
@ 25%
) 35%
) 40%
(5) m‘@iﬂmﬁ
- qa%sﬁmﬁrm"r%%aﬁﬁaﬁwwm
mm,z@m@q{m%%aﬁaﬁamsw
¥ FUT W ¥ T 32-50 A 7, A w0 (T F)
g
(1) 38,250
2) 3,000
(3) 3,060
(4 3,120
(5) I & & AR
88. ATH FE ® 15 R & qun B v = #r 20 Ry
T THa1 2 | A 98 1 et == 39 = w4 R
ﬁﬁ%%,?ﬁmw‘mmw_ﬁw%?
. g
1 il
(GD) 15
@ 1
4
@ L
10,
@
15
®) A =
89,

U A B FErd qen e § s 3 : 2 I U
%Wﬁmw&mwmﬁszgwmg.

86.

87.

88.

89.

Oranges are bought at 5 for & 10 and sold at

6 for T 15. The profit percent is :

(1 50% .

@ 2% # oiresuLTz
(3) 36%

4)  40%

(56) Not attempted

If the simple interest on a certain sum for

15 months at 7%% per annum exceeds the

simple interest on the same sum for 8 months at
12%% per annum, by ¥ 32-50, then the sum (in
T)is:

(1) 3,250

(2) 3,000

(3) 3,060

(4) 3,120

(5) Not attempted

A can do a work in 15 days and B in 20 days. If

they work on it together for 4 days, then the
fraction of work that is left, is :

(1) %
@ %
3 1i0
@) —173
(5) Not attempted _

The ratio of length and breadth of a rectangle is

3 : 2 respectively. The ratio of its perimeter and
A™g ﬁ“ﬂgré (e &) 2 . area is 5 : 9. The breadth of the rectangle (in
1) '13 . _ :xll;atres) is :

. 13
2) 6 @lNDlRESULTE @
(3) 8 / UUUUUUUUUUU PARTHNER
3) 8
;\___\(‘5);- IR A8 A1 e (6) Not attempted
RAM/C3,’Page 19 T T4 % férg Torm / SPACE FOR ROUGH WORK
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90.

91.

92.

93.

aod BGERESULL I

oo pl p A &y a1 p

IR

TR R
) 6

2)
@ 4
@ 5

I @ QAT 9TEd

-
o

&)

T TS T TS &> H 25 | IO F Y HEr T |
T B, T TSN W 52 ¥ o ¢ feer Rrad sy
TEE, ¥ TFRA 324 I SW gen | om
A et ge T ot

52

12

15

25

D
2
3)
(4)
(5)

A n HE THEd e ¥, @ SH-ASE wen
S 2 e (08— n) w2a fwifa 2 2

(1) .18

2) 3

(3)
(4)

(5)

12
IR FE 2 T

Y, (x +3)% WUl 2 A y =8B 5H x = 12 |
x=2%ﬁ%‘(yﬁm?&1%?

(1) 16 &

(2) 6 3

. # WoiresuLTe
(4) 12

(5) I AE 21 =Eq

ARAM/C3/Page 20

90.

91.

92.

(3

93.

If [p] denotes the greatest integer less than or
equal to p, then

1 2
l"i} + [4 —5-j] + (2] /o'
@ WoiResuLTz

UR SUCCESS PARTHNER

is equal to :
1) 6
(2) 3
3) 4
4) 5

(5) Not attempted

A boy was asked to multiply a certain number by
25. He, by mistake, multiplied the number by 52

and got the product which was greater than the

correct product by 324. The number to be
multiplied was :

(1) 52
(2 12
15
25
Not attempted

4)
()

If n be any natural number, then by which
greatest number is (n3 — n) always divisible ?

(@918

(2)

3)

4) 12

(5) Not attenipted

y varies directly proportional to (x + 3) and y = 8
when x = 1. What is the value of y when x = 2?

(1) 16

(2) 6

(3) 10

4) 12

(5) Not attempted

[C smﬁﬁfr-m ;Q%TSPACE FOR ROUGH WORK
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Fg‘g:ommé g‘%z q $o aH Wern Rrad 3@ o @)

FA T WA W 26% T B | Ao § sy )
quT Q@ A " e R

(H 1:4

ST & & wm

T TE | 24MA H Ry w 3 d.A. wfa
ﬁéﬁaﬁwﬁé%ﬁm@mmm% | T & v
e foret ot T o 9

(1) 96H.

(2) 484

(3) 60.

(4) 724

(5) I & T TmEd

Aﬁ?85,000WﬂW@Wmﬁ5ﬂT | 5B
m%m%a;z,soo%mlswwﬁﬁa
TR TS e e 1% s i
m,a’TBﬁﬁﬁm%%qFr&m@?

(1) 8um

@) 4w . |

@ sm @ moresurs
4) 61"

) I T T =y

on Telegcram - "IndiResult.in”

094,

95.

96.

@

(5)

A milkman mixed some water with milk to gain
256% by selling the mixture at the cost price. The

ratio of water and milk, respectively, in the

mixture is : .

M 14 (CINDIRESULTE
(2) 5:4

3) 4:5

4) 1:5

(5) Not attempted

A bus moving at a speed of 24 m/s begins to slow

at a rate of 3 m/s each second. How far does it go
before stopping ?

(1) 96m

48 m

3) 60m

4 72m

Not attempted

A began a business with T 85,000. He was joined
afterwards by B with ¥ 42,500. For how much
period does B join, if the profits at the end of the

year are divided in the ratio 3: 1 ?

(1) 8 months

(2)

4 months

(3)

5 months

(4)

6 months

(6) Not attempted

TF T4 o o1y T / SPACE FOR ROUGH WORK
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97. Wh s gl el &1 76% @H e R | g

amied 200 wg STt } @ a8 W @S A ff 109, )
FAFY T Q@ R | Iuh) g=d A Il gfy

(1 50%

(2)  10%

Q) 28%

4) 37;%
(5) 3T T &A1 =TEd

98. S Wi weta Hit get 7 15 e w, wew 2@ wg
T R sE R g A 1 R w, semeit wr arey
13w e } | andtash gt # gt fhaft st § 9

D

e s}

,_
(V5]

-
¢

4) 6 :

(5) I TE AT =R

99. B FAN a, b, c,d, e, {38 TR & & ab = 1,
bc=%,cd=6,de=2‘d¥ﬂef=—;-%l(ad:be:cf)

97.

98.

.

A man spends 75% of his income. His incomg i
increased by 20% and he thus also increaseq hig
expenditure by 10%. His savings increased.by:

(1) 50%

2 10% ( '
@ 1o #oiresuLTe

(4) 37%%

(5) Not attempted

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is included
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list ?

(1 8

(2 4

3) 5

4 6

(5) Not attempted

A TR ? 99. Six m;mbers a,b,c d, e, fare su(ih that ab = 1,
bc= —,cd=6,de=2andef= = W is the

@ 72:1:9 g © € = 2 and.el = o, Wihat 191

(2) 4:3:27 value of (ad : be : cf) ?

@) 6:1:9 1 72:1:9

S (2) 4:3:27

(4) 8:9:9 (3) 6:1:9

(5) I T &1 =@ (4) 8:9:9
(5) Not attempted

100. A 1 AHEA F1 5%, B H IAWSH % 15% F e 8

A7 B H AW H 10%, C H AT F 20% F 100. 5% income of A is equal to 15% income of B and

a2 | e CHt WS T 2,000 %, A, B A C 10% income of B is equal to 20% income of C.

#1 el &1 AEa (T ) B If income of C is ¥ 2,000, then the sum of the

(1) 18,000 incomes (in ¥T) of A, B and C is :
(1) 18,000

@) SH00 . (2) 6,000

el #NpiResuLTg 3 9,000

(4) 12,000 - (4) 12,000 |

(5) 3w A& &A1 FrEd (56) Not attempted R ——

ARAM/C3/Page 22 TF &Y & 10 €U | SPACE FOR ROUGH WORK |
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